SYEARLLB

Which article of the Indian Constitution deals with the Right to Equality?

(A) Article 14
(B) Article 19
(C) Article 21
(D) Article 32

Who has the power to amend the Constitution of India?

(A) Parliament

(B) President

(C) Supreme Court
(D) Prime Minister

Bharatiya Nyaya Sanhita is replacing which of the following?

(A) Indian Penal Code

(B) Indian Procedural Code
(C) Indian Property Code

(D) Indian Parliamentary Code

Which of the following is not a valid element of a contract?

(A) Offer

(B) Acceptance
(C) Consideration
(D) Intention

Which legal maxim means "Let the buyer beware"?

(A) Caveat Emptor
(B) Res Ipsa Loquitur
(C) Actus Reus

(D) Mens Rea

Which principle states that a person cannot be tried or punished twice for the same
offense?

(A) Double Jeopardy
(B) Habeas Corpus
(C) Res Judicata

(D) Stare Decisis

Which of the following is not a fundamental right guaranteed by the Indian
Constitution?
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11.
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(A) Right to Education

(B) Right to Property

(C) Right to Freedom of Speech
(D) Right to Equality

What is the minimum age required to become a member of the Rajya Sabha (Council
of States) in India?

(A) 25 years
(B) 30 years
(C) 35 years
(D) 18 years

Which legal maxim means "the thing speaks for itself"?

(A) Res Ipsa Loquitur
(B) Caveat Emptor
(C) Actus Reus

(D) Mens Rea

What does the Latin term "Mens Rea" refer to in criminal law?

(A) Guilty mind
(B) Innocent act
(C) Omission of duty
(D) Criminal act

What is the legal term for a written statement made under oath?

(A) Affidavit

(B) Testimony
(C) Deposition
(D) Interrogation

In which case did the Supreme Court of India lay down the “basic structure” doctrine
of the Constitution?

(A) Keshavananda Bharati case

(B) Golaknath case

(C) Maneka Gandhi case

(D) DK Basu v State of West Bengal

Who is known as the father of international law?

(A) Jeremy Bentham
(B) Hugo Grotius
(C) Mahatma Gandhi
(D) John Rawls



14. Right to education is prescribed in

(A) Article 45 of the Constitution of India
(B) Article 21 of the Constitution of India
(C) Article 21 A of the Constitution of India
(D) Article 45 A of the Constitution of India

15. Indian citizenship can be acquired through which of the following?

(A) By descent

(B) By naturalization
(C) By registration
(D) All of the above

16. Tort is the violation of a

(A) Rightin rem

(B) Right in personam
(C) Both (A) and (B)
(D) Neither (A) nor (B)

17. Which one of the following articles of the Constitution confers the power to amend
the Constitution?

(A) A.346
(B) A.248
(C) A.368
(D) A.364

18.  Vicarious liability arises in relationships of ...............

(A) Master and his servants

(B) Partners of a partnership firm
(C) Principal and agent

(D) All of the above
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Right to Information has the status of a fundamental right under

(A) Right to life

(B) Right to freedom of speech and expression
(C) Right to live with human dignity

(D) None of these

‘lis pendens’ mean

(A) Pending Suit

(B) Place of standing
(C) Law suit elsewhere
(D) None of the above

The writ of mandamus can be issued against

(A) Any public person or authority
(B) Only against tribunals

(C) Only against person

(D) Only against court

Choose the correct statement

(A) Directive Principles of State Policy is non-justiciable
(B) Directive principles of State Policy is enforceable

(C) Directive principles of State Policy can override Part II1
(D) All fundamental rights are non justiciable

Expand SEBI

(A) Securities and Exchange Board of India
(B) Securities of Enterprises Board of India
(C)  Small Enterprises Bank of India

(D) None of the above

Read both Assertion and Reasoning and select the correct answer

ASSERTION (A): Itis duty of the state to devise and implement a coherent and
coordinated programme to meet obligation of sustainable
development

REASON (R): Adherence to principle of sustainable development is now a
constitutional requirement

(A) Both A and R are correct and R is the correct explanation of A
(B) Both A and R are correct but R is not the correct explanation of A
(C) Ais correct but R is wrong
(D) A is wrong but R is correct

The term ‘loco parentis’ refers to

(A) Inequal fault
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(B) In place of parent
(C) In front of parent
(D) State supremacy

Alice, Bob, and Charlie are sitting in a line. Alice is taller than Bob. Charlie is shorter
than Alice and taller than Bob. Who is in the middle?

(A) Alice

(B) Bob

(C) Charlie

(D) Cannot be determined

A factory produces identical red, blue, and green balls. You are blindfolded and asked
to pick the balls. What is the minimum number of balls you need to pick to guarantee
at least two balls of the same color?

A) 2
B) 3
<€ 4
D) 5

An island has two tribes: Truthtellers who always tell the truth and Liars who always
lie. You meet three islanders and ask each, "Are you a Truthteller?" The first says
"Yes," the second says "No," and the third says "I don't know." Who is a Truthteller?

(A) First islander

(B) Second islander

(C) Third islander

(D) Cannot be determined

Vasanthi purchased 360 bananas at the rate of ¥8/- dozen. She sold them at the rate of
X1/- banana. How much profit she made?

(A) 120
(B) X124
(C) 24

(D) 36
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Five persons are sitting around a dining table- K, L, M, N and O. K is the mother of
M, who is the wife of O. N is the brother of K and L is the Husband of K. How is L
related to O?

(A) Father

(B) Mother-in-law
(C) Brother-in-law
(D) Father-in-law

Priya started from her house towards North. After covering a distance of 8 kms she
turned towards left and covered a distance of 6 kms. What is the shortest distance now
from her house now?

(A) 16 kms
(B) 8 kms
(C) 2kms
(D) 10 kms

Statement: All mangoes are golden in colour, no golden colour things are cheap.
Conclusions:
I. All mangoes are cheap.
II. Golden coloured mangoes are not cheap.

Which of the following is true?

(A) Only Conclusion I follows

(B) Only Conclusion II follows

(C) Either Conclusion I or II follows
(D) Both Conclusion I and II follows

Bhavana, ranks l3th in the class of 33 students. There are 5 students below Jaya, rank wise.
How many students are there between Bhavana and Jaya?

(A) 12
(B) 14
(C) 15
(D) 16

If all cats can climb trees, and Mittens is a cat, what can you conclude?

(A) Mittens can climb trees.

(B) Mittens cannot climb trees.

(C) Mittens might be able to climb trees.
(D) None of the above.

All flowers in Emily's garden are red. Some roses are in Emily's garden. What can
you conclude?

(A) All roses are red.
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(B) Roses in Emily’s garden are red.
(C) Allroses are in Emily's garden.
(D) None of the above.

IfA=1,B=2,C=3,..,Z=26, what is the value of COMPUTER?

(A) 101
(B) 100
€) 111
(D) 91

Pointing to a man a woman said ‘his mother is the only daughter of my mother’, how
is the woman related to the man?

(A) Sister

(B) Mother

(C) Grand daughter
(D) Grand father

If 5 friends have a total of 10 chocolates and each friend has an equal number of
chocolates, how many chocolates does each friend have?

A) 1
B) 2
(O
(D) 10

Choose the right word to fill in the blank.
CATTLE : ACTTEL :: BATTLE : ...............

(A) ABTTEL
(B) TABTEL
(C) LETTAB
(D) TABLET

Which one of the following justifies the meaning of Statement “Empty vessel makes
more noise”?

(A) Intellectuals are not recognized
(B) Merit has no place
(C) Giving importance to unnecessary things
(D) Person speaking loud when there is no point to make
If Tim can paint a house in 6 hours, and Tom can paint the same house in 8§ hours,

how long will it take them together?

(A) 2.4 hours
(B) 3.2 hours
(©) 4 hours

(D) 14 hours
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A man bought a dozen eggs for 12 rupees. He found that 4 of them were rotten and
threw them away. At what price per egg should he sell the remaining eggs so as to
neither gain nor lose?

(A) 1

(B) 125
©) 15
(D) 1.75

A witness claims to have seen the suspect leaving the crime scene at 2 AM. He also
claims it was a full moon that night. However, records show there was no full moon
on that date. What can you infer?

(A) The witness is lying about the full moon

(B) The witness is lying about the time

(C) The witness is mistaken about the timing and day
(D) All the above

Two friends, Adam and Ben, make the following statements:

Adam: It will rain tomorrow.
Ben: It will not rain tomorrow.

Can both statements be true?

(A) Yes, if they are in different locations
(B) Yes, if one of them is lying

(C) No, at least one must be false

(D) It depends on their definition of "rain"

A gives half of his salary to his wife, half of remaining salary to his son and 13" of
what then remains to his daughter. He is left with I500/-. What is his salary?

(A) 1200/-
(B) 1500/-
(C) 3000/-

(D) data insufficient

Choose the pair that best completes the analogy.
Clock : Time :: Calendar : ?

(A) Month
(B) Date

(C) Schedule
(D) Season
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Which of the following is an example of an appeal to emotion fallacy?

(A) This product is the best because it has won numerous awards
(B) Everyone is buying this new phone, so you should too
(C) This medication has no side effects, so it must be safe
(D) If you don't vote for this candidate, the world will end

Seen through a mirror, the arms of a clock shows 09:30. What is the actual time?

(A) 02:30
(B) 03:30
(C) 06:30
(D) 06:10

A student claims to have studied for 10 hours straight without taking any breaks.
However, research shows that the optimal study duration without breaks is around 50
minutes. What can you infer?

(A) The student is lying about the study duration
(B) The student has exceptional studying abilities
(C) The student's study method is ineffective

(D) None of the above

The ratio of monthly incomes of A and B is 7 : 10. The ratio of their expenditure
is 2 : 3. If each of A and B saves ¥1000 per month, then what will be the monthly
income of B?

(A) 39000
(B) 10000
(C) 15000

(D) 12000
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A tree is at present 9 feet tall. If every year it grows 1/9th of its height, what will be
the height of the Tree after three years?

(A) 12 feet
(B) 12.34 feet
(C) 13 feet

(D) 13.10 feet

If you flip a fair coin twice, what is the probability of getting exactly one head?

W
®
© =
®

The average age of Ashok and his father is 45 years. If the ages of the father and
grandfather of Ashok are respectively two and three times that of Ashok, then the age
of Ashok’s grandfather is?

(A) 75 years
(B) 90 years
(C) 81 years
(D) 84 years

In a two-player game of Prisoner's Dilemma, what strategy leads to the best outcome
for a player regardless of the opponent's choice?

(A) Always cooperate
(B) Always defect
(C) Tit for tat

(D) Random strategy

In a meeting, the map of a village was placed in such a manner that south-east
becomes north, north-east becomes west and so on. What will south become ?

(A) North
(B) North-east
(C) North-west
(D) West
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A is the parent of C and D. F is the only daughter of K whose husband is A. D, C and
F are siblings. How is D related to K?

(A) Mother
(B) Son

(C) Daughter
(D) Father

In a certain code language, ‘PARK’ is coded as ‘3749’, and ‘RACE’ is coded as
‘4762°. How will ‘CARE’ be coded in that language?

(A) 6724
(B) 7642
(C) 7624
(D) 6742

Select the number from among the given options that can replace the question mark
(?7) in the following series

16, 33, 100, 401, ?

(A) 1235
(B) 804
(C) 1588
(D) 2006

In a code language, SOUP is written as TNVO. How will BOWL be written in that
language?

(A) CNXK
(B) ANVK
(C) CPVM
(D) APVM

Select the correct option that indicates the arrangement of the given words in the order
in which they appear in an English dictionary

Malice
Malignant
Mallows
Malfunction

el el o

(A) 4
(B) 4,
<€ 1
(D) 4,
Which is

Tea, Rubber, Cardomom, Chalk, Cinchona
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(A) Tea

(B) Rubber
(C) Cardomom
(D) Chalk

Roshan is 28" from the left and Merin is 21% from the right end of row of 50
children. How many children are there between Roshan and Merin in the row?

A) 1
B) 2
<€ 3
(D) 4

If 14 April 2013 is Sunday, then 20 September 2013 is

(A) Sunday
(B) Wednesday
(C) Friday

(D) Saturday

Syam was born on August 11, Mohan is 11 days elder than Syam. Independence day
of the year was on Monday. Then Mohan's birthday is on

(A) Monday
(B) Tuesday
(C) Sunday

(D) Saturday

In a certain code, MONKEY is written as XDJMNL. How is TIGER written in that
code?

(A) SHFDQ
(B) HFDSQ
(C) RSAFD
(D) QDFHS

Direction: In the question below is given an assertion (A) followed by a reason (R).
On the basis of the information given in the assertion and reason, decide which of the
answer is correct

Assertion (A):  Phenyl is used as a household germicide
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Reason (R): Phenyl is Phenol derivative and phenol is an effective germicide

(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is not the correct explanation of A
(C) Astrue but R is false

(D) A s false but R is true

Four words have been given, out of which three are alike in some manner and one is
different. Select the word that is different

(A) Diarrhoea
(B) Scurvy
(C) Goitre
(D) Anaemia

Aparna was born one year after her mother’s marriage. Her father is two years elder
than her mother but twenty five years older than Aparna, who is six years old. At what
age did the mother get married?

(A) 22 years
(B) 31 years
(C) 21 years
(D) 25 years

Find the odd one out from the given options

(A) Arctic
(B) Atlantic
(C) Indian

(D) Greenland

Identify the odd one from the list below:

(A) Minute : Time

(B) Barometer : Pressure
(C) Liter: Volume

(D) Millimeter : Length
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Rama travels 10 km towards the north, turns left and travels 4 km and then again turns
right and covers another 5 km and then turns right and travels another 4 km. How far
is he from the starting point ?

(A) 5km
(B) 10km
(C) 15km
(D) 19 km

The 30 members of a club decided to play a badminton singles tournament. Every
time a member loses a game he is out of the tournament. There are no ties. What is the
minimum number of matches that must be played to determine the winner?

(A) 25
(B) 27
(C) 29
(D) 61

The mean weight per student in a group of seven students is 55 kg If the individual
weights of 6 students are 52, 58, 55, 53, 56 and 54; then weights of the seventh
student is

(A) 55kg
(B) 60 kg
(C) 57kg
(D) 50kg

If MATHEMATICS = 12345123678, then MAHATMA = ?

(A) 123212
(B) 1243321
(C) 1242312
(D) 1243212

A Day after tomorrow will be Christmas day. What will be the day on New Year Day
if today is Sunday?

(A) Wednesday
(B) Tuesday
(C) Friday

(D) Saturday
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Choose the synonym for "Abundant".

(A) Scarce
(B) Sparse
(C) Plentiful
(D) Limited

Identify the grammatically correct sentence.

(A) She don't like ice cream.

(B) He haven't finished his homework.
(C) They was going to the park.

(D) TIhave not seen her today.

Which sentence is in the passive voice?

(A) John ate the cake.

(B) The cake was eaten by John.
(C) John was eating the cake.
(D) John eats the cake.

Identify the correctly punctuated sentence:

(A) Icannot go to the party; I have too much homework.
(B) I cannot go to the party: I have too much homework.
(C) Icannot go to the party I have too much homework.
(D) Icannot go to the party, I have too much homework.

Choose the correct form of the verb to complete the sentence:
They ............... dinner when the guests arrived.

(A) were preparing
(B) prepared

(C) had prepared
(D) preparing

Choose the synonym for "Exquisite".

(A) Ugly

(B) Beautiful
(C) Ordinary
(D) Attractive
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Choose the correct word to complete the sentence:

(A)
(B)
(©)
(D)

She ............... to the store yesterday.

goes
gone
went

£0

Choose the synonym for "Devour".

(A)
(B)
©)
(D)

Identify the sentence with correct usage of "eminent" and "imminent":

L
IL.

(A)
(B)
©)
(D)

Eat
Save
Waste
Preserve

Al

The eminent scientist was awarded the Nobel Prize.
The imminent danger forced them to evacuate the area.

Only I is correct

Only II is correct

Both I and II are correct
Neither I nor II is correct

Choose the correct form of the verb to complete the sentence:

(A)
(B)
©)
(D)

Thecat............... in the garden all day yesterday.

Which of the following is the synonym of Preponderance

(A)
(B)
(©)
(D)

Pre-eminence
Remnant
Domineering
Preoccupation
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In the sentence "She is neither here nor there," what part of speech is "there"?

(A) Adjective
(B) Adverb

(C) Pronoun
(D) Preposition

What type of rhetorical device is used in the phrase "The pen is mightier than the sword"?

(A) Metaphor

(B) Simile

(C) Personification
(D) Hyperbole

Which of the following is the synonym of Intrepid

(A) Hesitant
(B) Extrovert
(C) Fearless
(D) Rash

In the sentence "I could not care less," what does "less" modify?

(A) Could
(B) Not
(C) Care
D) 1

What type of clause is used in the sentence "Although it was raining, they decided to
go for a walk"?

(A) Independent
(B) Dependent
(C) Relative

(D) Subordinate

What type of sentence is this: "Go to the store and buy some milk"?

(A) Imperative
(B) Interrogative
(C) Declarative
(D) Exclamatory
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In the sentence "The book, which I borrowed from the library, was fascinating," what
is the function of the relative clause?

(A) Subject

(B) Object

(C) Complement
(D) Modifier

Which of the following is an example of parallelism?

(A) "She likes hiking, to swim, and reading."

(B) "He was a tall, dark, and handsome man."

(C) "His talents included singing, dancing, and to act."
(D) "I enjoy running and to play tennis."

Which of the following sentences uses a correct ellipsis?

(A) "She bought apples, bananas, and pears."
(B) "He walked, talked, and ran."

(C) "She enjoys painting; he, sculpture."

(D) "The cat sat on the mat."

Find the antonym of the word in bold

The Board of Directors showered encomium on the Chairman for his liberal
policies

(A) Denunciation
(B) Generosity
(C) Tribute

(D) Praise

Direction: Read the passage and answer the following.

LORD DENNING; In summertime village cricket is the delight of everyone.
Nearly every village has its own cricket field where the young men play and the old
men watch. In the village of Lintz in County Durham they have their own ground,
where they have played these last seventy years. They tend it well. The wicket area is
well rolled and mown. The outfield is kept short. It has a good club-house for the
players and seats for the onlookers. The village team play there on Saturdays and
Sundays. They belong to a league, competing with the neighbouring village. On other
evenings after work they practice while the light lasts. Yet now after these 70 years a
Judge of the High Court has ordered that they must not play there anymore, He has
issued an injunction to stop them. He has done it at the instance of a newcomer who is
no lover of cricket. This newcomer has built, or has had built for him, a house on the
edge of the cricket ground which four years ago was a field where cattle grazed. The
animals did not mind the cricket. But now this adjoining field has been turned into a
housing estate. The newcomer bought one of the houses on the edge of the cricket



ground. No doubt the open space was a selling point. Now he complains that, when a
batsman hits a six, the ball has been known to land in his garden or on or near his
house. His wife has got so upset about it that they always go out at weekends. They
do not go into the garden when cricket is being played. They say that this is
intolerable. So they asked the Judge to stop the cricket being played. And the Judge,
feels that the cricket must be stopped: with the consequences, I suppose the Lintz
cricket-club will disappear. The cricket ground will be turned to some other use. I
expect for more houses or a factory. The young men will turn to other things instead
of cricket. The whole village will be much the poorer. And all this because of a
newcomer who has just bought a house there next to the cricket ground.

97. What issue is addressed in this comprehension?

(A) The consequences of not playing cricket in summertime

(B) The consequences of having judges of 70 years or more in the high courts
(C) The consequences of getting Lintz cricket club disappear

(D) The consequence of a person’s private interest affecting the public interest

98.  Where did the villagers used to play?

(A) Their own ground

(B) Cattle grazing ground of residents
(C) Nearby village ground

(D) Ground owned by Lintz club

99. Provide synonym for the word ‘tend’

(A) Abandon

(B) Dig
(C) Run
(D) Plough

100. What was the complaint of the newcomer?

(A) Four years ago the ground was used as cattle grazing ground and now the
animals cannot use the grazing ground

(B) The noise is affecting the peace of residents

(C) Adjoining area is owned by housing estate and Lintz club has no authority to
use it

(D) when a batsman hits a six, the ball has been known to land in his garden or on
or near his house

101.  What will happen if cricket is stopped?

(A) The main income of village will be stopped

(B) Cricket ground will be used to make factory by newcomer
(C) The young men will turn to other things instead of cricket
(D) Cricket ground will be turned to cattle grazing ground
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In the question, a sentence has been jumbled. Choose the proper sequence which are
labelled P, Q, R and S to construct a logical sentence

In the darkness

was clearly visible with

and the aquiline nose

the tall stooping figure of the doctor
the long, narrow beard

nxIO T

The Proper sequence should be:

(A) RQPS
(B) PSQR
(C) RPSQ
(D) QPRS

Change the words in capital to make it grammatically correct.

In addition TO ENHANCED THEIR REPUTATIONS through technological
advancements, colleges under ABC management are sponsoring education facilities
for under privileged students

(A) of enhancing their reputation
(B) to having enhance their reputation
(C) to enhancing their reputation
(D) to have their reputation enhancing

Choose the word similar in meaning to the word given in capital letters
PARSIMONY

(A) Generosity
(B) Selfishness
(C) Saving

(D) Extravagance



105. Choose the word nearest in meaning to the word given in capital letters

(A)
(B)
(©)
(D)

NUGATORY

Null
Significant
Normative
Fatal

106.  Find the meaning of the idiom/phrase given in capital letters

Now that she finally agreed to meet with you, you might find that you've

CAUGHT A TARTAR

(A)
(B)
©)
(D)

To make a dream come true

To meet with danger

To trap a wanted person

To deal with a person who is more than one's match

107.  Find the meaning of the given idiom/phrase given in capital letters

(A)
(B)
©)
(D)

He was accused by his colleagues for being A MAN OF STRAW

To be fake

To be weak

To be aggressive
To be cunning

108.  Select the most appropriate word to fill in the blanks

(A)
(B)
(©)
(D)

................ you please help with my computer?

109.  Select the most appropriate word to fill in the blanks

(A)
(B)
©)

(D)

The truck was............... the traffic and the policeman asked to move off

Obstructing
Hiding
Closing
Holding



110.  Select the most appropriate word to fill in the blanks

(A)
(B)
(©)
(D)

| something burning now
Smelt

Have smelt

Have been smelling

Smell

111.  Choose the word opposite to the word given in capital letters

(A)
(B)
(©)
(D)

OPULENCE

Luxury
Transparency
Wealth
Poverty

112.  Choose the word opposite to the word given in capital letters

(A)
(B)
(©)
(D)

POIGNANT

detached
Severe

Pleasure
Pleasant

113.  Choose the word opposite to the word given in capital letters

(A)
(B)
©)
(D)

JETTISON

Abandon
Acknowledge
Adjoining
Accept

114.  Choose the word correctly spelt

(A)
(B)
©)
(D)

Manoevur
Manoeuvre
Manover
Manoeuver



115. Find out the incorrectly spelt word

(A) Transmit
(B) Attribute
(C) Constitute
(D) Investegate

116. Find out the incorrectly spelt word

(A) Herculian

(B) Kaleidoscope
(C) Conscientious
(D) Merciful

Direction (Q. No. 117- 120): Read the passage and answer the following.

Justice V.R. KRISHNA IYER; In the eye of law, prisoners are persons not
animals, and to punish the deviant ’guardians’ of the prison system where they go
berserk and defile the dignity of the human inmate. Prison houses are part of Indian
earth and the Indian Constitution cannot be held at bay by jail officials ’dressed in
little, brief authority’. When Part III is invoked by a convict, When a prisoner is
traumatized, the Constitution suffers a shock. The courts in America have, through the
decisional process, brought the rule of law into the prison system pushing back, pro-
tanto, the ’hands-off’ doctrine. The content of our constitutional liberties being no
less, the dynamics of habeas writs there developed help the judicial process here. The
full potential of Articles 21, 19 & 14 after Maneka Gandhi has been unfolded by this
Court in Hoskot and Batra. Today, human rights jurisprudence in India has a
constitutional status and sweep.

117. Choose the word similar to BERSERK

(A) Wild

(B) Monstrous
(C) Criminal
(D) Immature

118.  What happens when the prisoner is traumatized?

(A) The citizens revolt

(B) The prisoner will be given treatment by jail authorities
(C) The constitution suffers shock

(D) Nothing will happen



119. What impact have American courts had on the ‘hands-off” doctrine in the prison
system through their decisional process?

(A)

(B)
(®)

(D)

Strengthened the ‘hands-off” doctrine, limiting judicial intervention in prison
matters

Maintained the status quo, leaving the ‘hands-off’ doctrine unchanged
Pushed back against the ‘hands-off” doctrine, bringing the rule of law into the
prison system

Abolished the ‘hands-off” doctrine entirely

120. How Indian Constitution impacted on prison officials who wield authority within
prison facilities?

(A)
(B)
(&)
(D)

The Constitution grants absolute authority to jail officials

The Constitution is indifferent to the actions of jail officials
The Constitution limits the authority of jail officials

The Constitution encourages harsher treatment by jail officials

121.  Choose the word which is opposite to DEVIANT

(A)
(B)
(©)
(D)

Uncommon
Queer
Bizarre
Common

122.  Change the following sentence to indirect speech

(A)
(B)
©)
(D)

I said to my friend, “can you pick me up after work?”

I asked my friend if he could pick me after work
I asked my friend if he can pick me after work?
I told my friend to pick me after work

I told my friend if I could pick him after work

123.  Change active voice to passive voice

(A)
(B)
(®)
(D)

Lie face down, stretch your arms to the front

You are face down, arms are to be outstretched

You should be lying face down, with arms outstretched
You should be lying face down, let arms stretch

Let face be down, let arms be stretched out



124.  Change active voice to passive voice
The family was watching Mahabharata on the TV

(A) Mahabharata was being watched by the family on the TV
(B) Mahabharata has been watched by the family on the TV
(C) Mahabharata is being watched by the family on the TV
(D) Mahabharata is watched by the family on the TV

125. Identify the meaning of the foreign words
“pro bono”

(A) To know each other
(B) donated without charge
(C) Give in faith

(D) With utmost care

126.  Which two countries participated in the joint military exercise SADA TANSEEQ in
January 2024 in Rajasthan?

(A) India and China
(B) India and Pakistan
(C) India and UAE
(D) India and Nepal

127. Highest number of snow leopards in India as per the Snow Leopard Population
Assessment in India (SPAI) are foundin ....................

(A) Uttarakhand

(B) Arunachal Pradesh
(C) Ladakh

(D) Sikkim

128. 'Beating the Retreat' is held every year at which location?

(A) Rashtrapati Bhavan, New Delhi
(B) Red Fort, Delhi

(C) India Gate, New Delhi

(D) Vijay Chowk, New Delhi

129.  Who is the Supreme Commander of the Armed Forces?

(A) Chief of Defence Staff
(B) President of India
(C) Prime Minister
(D) Vice President
130. What is the significance of Rohan Bopanna’s achievement?

(A) He is the first Indian player to win a Grand Slam title.
(B) He is the oldest player to win the Australian Open.



131.

132.

133.

134.

135.

136.

(C) He is the oldest player to reach the World No. 1 ranking in Men’s Doubles.
(D) He is the first athlete from Odisha to achieve a World No. 1 ranking.

What is the name of the Indian cricketer who won the ICC ODI Player of the Year
award in 20237

(A) Rohit Sharma
(B) Virat Kohli

(C) Shikhar Dhawan
(D) Hardik Pandya

Who was the Chief Guest at the Republic Day parade in 20247

(A) Narendra Modi

(B) Droupadi Murmu
(C) Emmanuel Macron
(D) Virat Kohli

What were the twin themes of the Republic Day parade in 20247

(A) Unity in Diversity and Military Strength

(B) Viksit Bharat and Bharat — Loktantra ki Matruka
(C) Cultural Heritage and Economic Progress

(D) Nari Shakti and Global Diplomacy

Which countries participated in Exercise Desert Knight alongside the Indian Air
Force in January 20247

(A) France and USA
(B) France and UAE
(C) USA and UAE
(D) France and China

When is National Girl Child Day celebrated annually?

(A) 1% January
B) 15" August
(@) 24th January
@) 10" February

Halwa ceremony is associated with which of the following events?

(A) Independence Day celebrations
(B) Budget preparation process

(C) National Women’s Day

(D) Republic Day Celebration



137.

138.

139.

140.

141.

Which scientific instrument is used to measure the height of an aircraft above a fixed
level?

(A) Barometer
(B) Fathometer
(C) Wattmeter
(D) Altimeter

Energy is continuously created in the sun due to

(A) nuclear fission

(B) nuclear fusion

(C) artificial radioactivity
(D) radioactivity

Which of the following elements’ salts are most soluble?

(A) Lithium
(B) Sodium
(C) Potassium
(D) Rubidium

Which of the following is a communicable disease?

(A) Scurvy
(B) Measles
(C) Diabetes
(D) Asthma

Which of the following is the largest gland in human body?

(A) Thyroid
(B) Liver
(C) Kidney
(D) Pancreas



142.

143.

144.

145.

146.

147.

What is the full form of DNA?

(A) Diribo nucleic acid
(B) Di nucleic acid

(C) Dual nitrogen acid

(D) Deoxyribonucleic acid

Which city is known as the Silicon valley of India?

(A) Mumbai
(B) Delhi

(C) Hyderabad
(D) Bengaluru

In which year Delhi became the capital of India?

(A) 1911
(B) 1912
(C) 1910
(D) 1905

Which award is known as “Asia’s Nobel Prize”?

(A) Bharat Ratna

(B) Vatayan Lifetime Achievement Award
(C) Ramon Magsaysay Award

(D) None of the above

Which articles of the Indian Constitution deal with fundamental rights?

(A) Article 5-11

(B) Article 245-263
(C) Article 12-32
(D) Article 51A

Which article states that the state cannot discriminate against a citizen on the basis of
religion, race, sex, etc?

(A) Article 15
(B) Article 18
(C) Article 11
(D) Article 372



148.  Which Indian city has been added to the ‘UNESCO Creative Cities Network’, in
Literature’ category?

(A) Madurai
(B) Kozhikode
(C) Mysuru
(D) Kurnool

149.  Silkyara Tunnel, which was seen in the news, is located in which state?

(A) Jharkhand
(B) Uttarakhand
(C) Assam

(D) West Bengal

150.  Which technology company has launched ‘Threads’ platform?

(A) Amazon
(B) Meta
(C) Google

(D) Mic
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